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(a) 2

(b) 4
(c) 6

(d) 8

2. X cf>l � lJR
logcosx sin x = 1

0 < X < 2!_ t?
2 

(a) 
12 

{b) 

(c) 

(d) 

q<fT t, -m f!lflcfi{UI 

cnl�<fiUllt, � 

al bi Cl 
a2 b2 c2 
a3 b3 c3 

cf>l lJR At, al � 

pa1 bi qc1 

pa2 b2 qc2 
pa3 b3 qc3 

(p ;t O <TT 1, q ;t O <TT 1)

cf>l lJR q<fT t? 

(a) pl!i

(b) qA

(c) (p+q)A

(d) pql!i
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4. � Co, C1, C2, ···, Cn , (1 + x) n t mm "it

� t al C1 + C2 + C3 + · · · + Cn 
cf>l lfR

q<fT t? 

5. � a+b+c=4 3fR ab+bc+ca=O t, al
�

(a) 32

(b) -64

(c) -128

(d) 64

a b c 
b c a 
c a b 

6. k t � � � lJR �' � � {ltflcfi{UI 

2sinx = 2k + 1 cf>l 1l;cfi � t?

(a) �

(b) 11;cfi

(c) �

(d) "'qT{ 



r 

1. The smallest positive integer n for 
which

(1-i)n2 -
- -1
l+i 

where i = ✓-1, is 
(a) 2

(b) 4
(c) 6

(d) 8

2. The value of x, satisfying the equation
logcosx sin x = 1, where O < x < �. is

2 

7t (a) 
12 
7t (

b) 3

(c) n
4
1t (d) 
6 

3. If ti is the value of the determinant
al bi Cl 
a2 b2 C2 
a3 b3 C3 

then what is the value of the following 
determinant? 

(a) 

(b) 
(c) 
(d) 

pa1 bi qc1 
pa2 b2 qc2 
pa3 b3 qc3 

(p ;t O or 1, q ,,t: 0 or 

pt'!. 

qt'!. 

(p+q)A 

pqt'!. 

FJY-D-MTC/66A 
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4. If C0, C
1
, C

2
, ···, Cn are the coefficients

in the expansion of (1 + x) n , then what
is the value of C1 +C2 +C3 + ··· + Cn?

(a) 2n

5. If a+ b + c = 4 and ab+ be+ ca= 0, then
what is the value of the following
determinant? 

(a) 32

(b) -64

(c) -128

(d) 64

a b c 

b c a 

c a b 

6. The number of integer values of k,
for which the equation 2 sin x = 2k + 1
has a solution, is 

(a) zero

(b) one

(c) two

(d) four

[ P.T.O. 



(a) 0

(b) l

(c) 2

(d) 4

lna1 lna
2 

lna
3

lna4 lna5 lna6 

lna7 lna8 lna
9 

8. � h wflcf><o1 x2 +2x+k=0 � l@'
cm-<1f¾cf> �, cTT

(a) k < 0

(b) k � O

(c) k < l 

(d) k � l

9. � n = 100,t cTT

1 1 1 1 --+--+--+· .. +--­
log2 n 1og3 n 1og4 n log

1 00 n 

q;JlfR�t? 

(a) 0

(b) l

(c) 2

(d) 3 
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10. � z = 1 + ct � i = .J=I t m z +� q;y

lfltflcf, (�) � t?

(a) 1

(b) 2

(c) 3

(d) 4

11. � A 3W: B Gl � "5lclm: � � t fcFi AB�
� n X n t, m f.h:.ifMrsa -q � �-m �
t?

(c) A3W:B�����-I

(d) A 3W: B � � q;y � � �
�ti

12. �-� � � � � � l{'qq t

� � � 30 � � 3,� 'B'@lll i1

(a) 2

(b) 3

(c) 4

(d) 6

' 

. ' 
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7. If a
1
, a2, a3, ···, a9 are in GP, then 

what is the value of the following 
determinant? 

{a) 0

(b) 1

(c) 2

{d) 4

lna1 lna2 lna
3 

ln a4 ln a5 ln a6 

In a7 ln a8 In a9 

8. If the roots of the quadratic equation 
x

2 
+ 2x + k = 0 are real, then

{a) k < O 

{b) k s;O

(c) k < 1 

(d) ks; 1

9. If n = 1001, then what is the value of 
the following? 

1 1 1 1 
+ + + ··· + 

log 2 n 1og 3 n log 4 n log 100 n

{a) 0

(b) 1

(c) 2

{d) 3
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10. If Z = 1 + i, where i = H., then what is 

the modulus of Z + �? 

{a) 1 

{b) 2 

{c) 3

(d) 4

11. If A and B are two matrices such that
AB is of order n x n, then which one
of the following is correct? 

{a) A and B should be square 
matrices of same order. 

{b) Either A or B should be a square 
matrix. 

(c) Both A and B should be of same
order.

{d) Orders of A and B need not be 
the same. 

12. How many,matrices of different orders
are possible with elements comprising
all prime numbers less than 30? 

(a) 2

(b) 3

(c) 4

(d) 6

I P.T.O. 



t, � p, q, r am s, 20 � -mi\ � ,ft 'clR
�����i,��cfil� 
ll'Rcfll'Tt? 

(a) 215

(b) 311

(c) 317

(d) 323

14. � A 3ffi B � 2 � � qrf � t fcfi
det(AB) = det(BA) t, m f.tqR-!f©a -ij �

cfil={-m � t? 

(a) Acfil� �l;<fi� ��
-I

(b) B cfi1 � � 1% � � m-;n
-I

(c) AamB�cfil���� 
m-;n., 

(d) A am B cfi'I � � m-;n � 11ft
ti

15. cot2x cot4x-cot4x cot 6x-

��t? 

(a) -1

(b) 0

(c) 1

(d) 2

FJY-D-MTC/66A 

cot6x cot2x 

6 

16. � tanX=-� tam X � �2UTI -qt
4

'dT sin x · cosx cfi'I ll'R cfll'T t?

(a) 6
25 

(b) 12

25

(c) 

(d) 

(a) 4 

3 

(b) 4

6 
25 

12 

25 

(c) - 4

4 (d) - J3 

18. ��

X 1 3 

0 0 1 =0 

1 X 4 

t, 'dT x��t? 

(a) -2 <ll 2

(b) -3 <11 3

(c) -1 <ll 1

(d) 3 <ll 4

j 
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13. Let

where p, q, r and s are any four
different prime numbers less than 20.
What is the maximum value of the
determinant? 

{a) 215

{b) 311

(c) 317

(d) 323

14. If A and B are square matrices of order
2 such that det( AB) = det(BA), then
which one of the following is correct? 

(a) A must be a unit matrix.

{b) B must be a unit matrix.

(c) Both A and B must be unit
matrices. 

(d) A and B need not be unit
matrices. 

15. What is

cot2x cot4x-cot4x cot6x-cot6x cot2x

equal to?

(a) -1

(b) 0

{c) 1

{d) 2

FJY-D-MTC/66A 7 

16.
3 If tanx = -- and
4 

X is in the second

quadrant, then what is the value of
sin x · cosx? 

(a)
6

25

(b)
12

25

(c)
6

25

(d)
12

25

17. What is the value of the following?

co sec ( 7t) sec( 5
3
n)

{a) 
4 

(b) 4

(c) -4

(d)
-../3

18. If the determinant

X 1 3
0 0 1 =0
1 x 4

then what is x equal to?

(a) -2 or 2

(b) -3 or 3

(c) -1 or 1

(d) 3 or 4

[ P.T.O.



19. tan31° tan33° tan35° •·· tan57° tan59° 

cf;lllR�t?

(a) -l

(b) 0

(c) l

(d) 2

20. �

1 x x+l 
f (x) = 2x x(x - 1) x(x + 1) 

3x(x -1) 2(x -l)(x - 2) x(x + l)(x - 1) 

t, o) /(-1) + /(0) + /(1) � � t?

(a) 0

(b) l

(c) 100

(d) -100

21. �4lcfi<01 sin-1 x-cos-1 x = � cf;'l/7fi
6 

(a) ���t

(b) ��t

(c) <n � t

{d) ��t 
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22. (sin24°+ cos66° )(sin24° -cos66° ) cf;l llR

�t?

(a) -1

{b) 0

(c) 1

(d) 2

23. ll;cf> •, M � ¥ 7fi � -q'"{ 120° cf;l

"cfiTOl �"cfi(cftt1 ·cli)�fclm;ftt?

(a) .f5.-1 �

(c) .f5. �

(d) ../3�

24. (1 + cot8-cosec8) (1 + tan 8 + sec 8)
�t?

(a) l

(b) 2

(c) 3

(d) 4

•



19. What is the value of the following?

tan 31 ° tan 33° tan 35° • • • tan 57° tan 59° 

(a) -1

(b) 0

(c) 1

(d) 2

20. If

1 x x+l 
f (x) = 2x x(x -1) x(x + 1) 

3x(x -1) 2(x -l)(x -2) x(x + l)(x -1) 

then what is /(-1) + /(0) + /(1) equal to? 

(a) 0

(b) 1

(c) 100

(d) -100

21. The equation sin- 1 x-cos-1 x = � has
6 

(a) no solution

(b) unique solution

(c) two solutions

(d) infinite number of solutions

FJY-D-MTC/66A 9 

22. What is the value of the following?

(sin24° + cos66° )(sin24° -cos66° )

(a) -1

(b) O

(c) 1

(d) 2

23. A chord subtends an angle 120° at the
centre of a unit circle. What is the
length of the chord? 

(a) ✓2 -1 units

(b) ./3 -1 units

(c) ./2 units

(d) ./3 units

24. What is

(1 +cot8-cosec8)(1 + tan8 +sec0) 

equal to? 

(a) 1

(b) 2

(c) 3

(d) 4

[ P.T.0. 



25_ l+tan2 8 -(
1-tan8

)
2 

��t?
1 +cot2 8 1-cot8 

(a) 0

(b) 1

(c) 2tan8

(d) 2cot8

26. 2 cm � cf;t � q@ � wt 3'.f!� cfil
�:cfil1Jl � t?

(a) 7t
2

(b) 37t
4

(c) 31t
5

(d) 31t
8

27.� 7sin8+24cos8=25 t, 

(sin 8 + cos8) cfil lfR � t?

(a) 1 

(b) 26
25

(c) �
5

(d) 31
25

F�r-D--:MTC/66A 
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2s. 6 m � � � M "3,tql\R � � �
'ij 6 m � � � ocfi �ti�� lTTG
'ij, ���cfil�ffl 75° tl �
cf;t��t?

(a) 12 m

(b) 9 m

(c) (6 + ./3) m

(d) (6 + 3./3) m

29. � � cfil � ffl 45° t OGl M "WR cf;t
�. 60° "3WR ffl 'tR � q@l � 'ij
X -s:m � � ti � "WR cf;t �
5(3+"'3) mt, m x��t?

(a) 8 m

(b) 10 m

(c) 12 m 

(d) 15 m

30. � 3cos8 =4sin8 t m tan(45° + 8) cfil
lfR�t?

(a) 10

(b) 7

(c) 7 
2 

(d) 7
4



25. What is

1 + tan 2 e ( 1- tan 8) 2
l+cot2 9 1-cot9 

equal to? 

(a) 0

(b) 1

{c) 2 tan 9

{d) 2cot9

26. What is the interior angle of a regular
octagon of side length 2 cm ?

1t 

{a)
2 

(b) 3n
4 

3n 
(c) 5 

{d) 3n
8 

27. If 7sin9+24cos9=25, then what is
the value of (sin 9 +cos8)?

(a) 1

(b) 26
25 

{c) 6 
5 

(d) 31
25 
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28. A ladder 6 m long reaches a point 6 m
below the top of a vertical flagstaff.
From the foot of the ladder, the 
elevation of the top of the flagstaff 
is 75 ° . What is the height of the 
flagstaff? 

(a) 12 m

{b) 9 m

(c) (6 + ../3) m

(d) (6 + 3../3) m

29. The shadow of a tower is found to be
x metre longer, when the angle of
elevation of the sun changes from 
60° to 45° . If the height of the tower is 
5(3 + ../3) m, then what is x equal to? 

(a) 8 m

{b) 10 m 

(c) 12 m

(d) 15 m

30. If 3cos8 = 4sin 8, then
value of tan (45° + 8)?

(a) 10

(b) 7

(c) 

(d) 
7 
4 

what is the 

. '( P.T.O. 



31. tan-1 
x+coC

1 
x = 1t t, �

2 

(a) XE R

(b) �XE R-(-1, 1)

(c) � XE R-{0}

(d) � XE R-[-l, l]

32• � tan A = .!_ t, o1 cos 2A � � t?
7 

(a) 24
25

(b) 
18 

25 

12 
25 'i fJI 

(d) 
25

33. � �� <fit � m, n 3-TR .Jm2 
+ n 2 

+ mn
�I��� .:!f!cblDTI <l'l.��t?

(a) 45°

... :. . :.. 

(b) 60°

(c) 75°
l .. 

(d) 90°

. ·' .. • ,. ....... � •• .,, t 
. � . 

I 
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34. �� ABC � � � t, � �
a = 10 cm, c = 4 cm 3-TR cfi1UT B = 30° 't?

(a) 16 cm 2 

(b) 12 cm2 

(c) 10 cm 2 

(d) 8 cm2 

35. Pti::ifaf&a � � � � :

1. A= {l, 3, 5} 3ITT B = {2, 4, 7} �
�ti

2. A= {1, 5, 9} 3-TR B = {l, 5, 5, 9, 9} Wi 
�ti 

� � -q -e �-m/-e � t/t?

(a) m I

(b) m2

' . .  " ... \ 
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31. tan� 1 x+coC 1 x = 1t holds, when
2 

(a) XE R

(b) xeR-(-1, 1) only

(c) x e R-{0} only

(d) x e R-(-1, 1] only

32. If
1 

then what tanA =-

7' 

equal to? 

(a) 
24 

25 

{b) 
18 

25 

(c) 
12 

25 

(d) 
25 

is cos2A 

33. The sides of a triangle are m, n and

✓m2 +n 2 
+mn. What is the sum of

the acute angles of the triangle?

(a) 4 5 ° 

(b) 60 ° 

(c) 7 5 ° 

(d) 90 ° 

FJY-D-MTC/66A 
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34. What is the area of the triangle ABC

with sides a= 10 cm, c = 4 cm and
angle B = 300? 

(a) 16 cm 2 

(b) 12cm 2 

(c) 10 cm 2 

(d) 8 cm 2 

35. Consider the following statements :

l. A = {l, 3, 5} and B = {2, 4, 7} are
equivalent sets.

2. A= {l, 5, 9} and B = {l, 5, 5, 9, 9}
are equal sets.

Which of the above statements is/are 
correct? 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2 I I ' I
I 

' • 



1. futi�,��Cfil�4(1�4·�1

2. ��3TCRT�-34(1�'a'l4tl

3. �M�-q lO�tm�
"QTo � (lTTcR �) � 1024 �
�I

(a) � l �2

(b) �2�3

(c) � l �3 

(d) l, 2 � 3

37. llR � R � �tl t -m x.Ry � � � "ijGJ
i:rft�t� ��� 2x+3y=20t,
� x, ye N i I R � (x, y) � � � 
�t? 

(a) 2

(b) 3

(c) 4

(d) 6

FJY-D-MTC/66A 14 

38. f.ti:;ifafurn � -q"{ � � : 

1. � � f: Z➔ Z, -m f(x) =x+l

ml qft\lffera t, � m � m�-m�
.&ii-.ijic:ct, � t I

2. � � /:N➔N, -m f(x)=x+l

ml qft"lffe@ t, � t � ,&lj'iijji.;c:f;
�ti

(a) � l

(b) �2

39. � �";{ � z� � � f.ti:;ifaf@a tR �
�:

i. (z-1J = (z-i-1

2. zz-1 = 1z 12 

(a)� l

(b) �2 

(c) l � 2 Gf.11

' '  

1 



36. Consider the following statements :

1. The null set is a subset of every
set.

2. Every set is a subset of itself.

3. If a set has 10 elements, then
its, power set will have 1024
elements.

Which of the above statements are 
correct? 

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1 ,  2 and 3

37. Let R be a relation defined as xRy
if and only if 2x +3y = 20, where
x, y E N. How many elements of the
form (x, y) are there in R?

(a) 2

(b) 3

(c) 4
. .

(d) 6

FJY-D-MTC/66A JS 

38. Consider the following statements :

1. A function f : Z ➔ Z, defined by
/(x) = x + 1, is one-one as well as
onto.

2. A function f: N ➔ N, defined by
f(x) = x + 1, is one-one but not
onto.

Which of the above statements is/are 
correct? 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

39. Consider the following in respect of
a complex number Z

2. zz- 1 
= 1z 12 

Which of the above is/are correct? 

(a) 1 only 

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

, [ P.T.0, 



40. M � mut'J � z � �� � f.li=iR-iRsa
tfi�"q'{mR�:

1. z am�� tfiT 3TTR � �
�ti

2. Z 3fr{ � � tfiT � � cll�f¾tfi
�t,

���-a <hT-l-m/-a wt t/t?

(a) � 1

(b) �2

(c) 1 am 2 Gf.TT

(d) -;i m 1 3fr{ -;i tt 2 

41. mut� � i2n+l(-i) 2n-1 tfiT lfT!TTqi cflTl t,

� n E N am i = ✓-1 t?

(a) -1

(b) 1

(c) .fi.

(d) 2

42. � a am p e4\tfi(OI 4x2 + 2x -1 = 0 � l@

�. m f.lq�Rsia il � <hT-l-m wt t?

(a) P = -2a 2 - 2a 

(b) p = 4a 2 -3a

(c) P =a 2 -3a

(d) p = -2a 2 +2a 
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43. � etfttfi<vl 5x2 + 26x + k = O <fiT � l@,
� l@ tfiT � t, m k <fiT lffi cflTl t?

(a) 2

(b) 3

(c) 5

(d) 8

44. 8 Rsi(-11�� � -a 5 Rsi(1(�4i cf;'r � iPt <i'!
�]ctiR����tmfcf;Mfcro'lf
� <i'I � ';f'gf � �?

(a) 42

(b) 35

(c) 21

(d) 20

45. (1 +4x+4x2 J5 � "5mT< � 'J:f� llG tfiT �

cflTl t?

(a) 8064

(b) 4032

(c) 2016

(d) 1008 



40. Consider the following statements in

respect of an arbitrary complex
number Z: 

1. The difference of Z
conjugate is an
number.

and its 
imaginary 

2. The sum of Z and its conjugate is
a real number.

Which of the above statements is/are 
correct? 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

41. What is the modulus of the complex
number i2n+1 (-i)2n-I, where neN
and i=H? 

(a) -1

(b) 1

(c) .f5.

(d) 2

42. If a and 13 are the roots of the equation
4x2 +2x-l =0, then which one of the
following is correct?

(a) 13 = -2a 2 - 2a

(b) 13 = 4a 2 -3a

(c) 13 = a 2 -3a

(d) 13 = -2a 2 +2a 
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43. If one root of Sx2 + 26x + k = 0 is
reciprocal of the other, then what is
the value of k ? 

(a) 2

(b) 3

(c) 5

(d) 8

44. In how many ways can a team of
5 players be selected from 8 players
so as not to include a particular 
player? 

(a) 42

(b) 35

(c) 21

(d) 20

45. What is the coefficient of the
middle term in the expansion of
(1 +4x +4x2 ) 5 ? 

(a) 8064

(b) 4032

(c) 2016

(d) 1008

• I [P.T.O. 



46. C(
n , 1) + C(n , 2) + • • • + C(n , n ) � cR1iR 

t?

( a) 2 +2 2 
+2 3 + •·

· 
+2" 

(b) 1 +2 +2
2 +2 3 + 

.
.

. 
+2" 

(c) 1 +2 +2 2 
+23 + •·· +2 n

-
l 

47
. 

{ l+x)2" � 'ST{ffi it, "31� � zja-q � � 

�<liT��t,� n��� 

t?

(a) 1 

(b)
2 

{c) n 

(d) 2n 

48
.

� � AP <li1 � "tfG 2 t � � �

� <liT�,������ 
�-�mf � cR1iR t, m � � � qi1 

��t?

(a
)

-500 

(b
) 

-25
0 

(c
) 

500

(d
) 

25
0 

FJ Y-D-MTC/66A f
s 

49. f.t4fBftid � -q'"{ � � : 

1. �M GP��"tl'G�tillR�
���M�, m� �
\ft GP"ttm1

2. �M GP��"tl'G�tlll'R�
��fc{�f.fim�,m�
� \ft GP"tt m1

��it� <fiR-m/� � tt
i

? 

(a)� 1 

(b) �2 

(c) 1 � 2 GH1 

. (d) -::f m 1 � ';f -gt 2 

so.�� cfi'\ f-io�Rt � � � m, m 1, 2, 

3, 4, 5 � <li1 � � � 5-� 
3 l�����t

? 

(a) 5 

(b) 4

(c
) 

3 

(d) 
0

51. � /(x+l )=x2 -3x+2 t, m /(x
) 

� 

Gf{l'if( t?

(a
) 

x2 -5x +4 

(b) x

2 -5x +
6 

(c
) 

x 2 +3x +
3 

(d
) 

x 2 -3x+
l



46. What is C(n, 1) + C(n, 2) + ··· + C(n, n)
equal to?

(a) 2 +2
2 

+2
3 

+ •·· +2"

(b) 1 +2 +2
2 

+2 3 + ··· +2"

47. What is the sum of the coefficients of
first and last terms in the expansion
of (1 + x) 2" , where n is a natural 
number? 

(a) I

(b) 2

(c) n

(d) 2n

48. If the first term of an AP is 2 and the
sum of the first five terms is equal to 
one-fourth of the sum of the next 
five terms, then what is the sum of 
the first ten terms? 

(a) -500

(b) -250

(c) 500

(d) 250
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49. Consider the following statements :

1. If each term of a GP is multiplied
by same non-zero number, then
the resulting sequence is also
a GP.

2. If each term of a GP is divided by
same non-zero number, then the
resulting sequence is also a GP.

Which of the above statements is/are 
correct? 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

50. How many 5-digit prime numbers can
be formed using the digits 1, 2, 3, 4, 5
if the repetition of digits is not 
allowed? 

(a) 5

(b) 4

(c) 3

(d) 0

51. If /(x + 1) = x2 
-3x + 2, then what is /(x)

equal to?

(a) x2 -Sx+4

(b) x2 
- 5x+6

(c) x
2

+3x+3

(d) x2 
-3x+l

, .

[ P.T.O. 



52. � x2
, 

x, -8 AP� 1, m A��ftrn � �

.tr.1-m � t?

(a} XE {- 2} 

(b} XE { 4} 

(c} XE { -2, 4} 

{d} XE {-4
, 

2} 

53
. 

f.filft G
P 

qil cfimT 'q'c; 3 t I � � � lfc:'\
cfiT T'l-l'f>� � t?

(a} 81 

(b)
243 

(c) 729

(d
) 

��tcJ;RV(��fcf;m 

-il't� 

54
. � � t � � c€t icft � � j�

�'l � � 2 {i + j ) t "iR1iR t I � � 

cfil1'R cflflt? 

(a
} 

O 

(b
} 

2 

(c} 4 

(d
) 

6 

FJY-O-MTC/66A 
2

0 

55. � 2, 4, 6, 8 qil m cg ,m � �

qffi � �� � � � t I � l{,ft 

til<�lct,l � l{Rl qil � � t? 

(a} 128 

(b} 64 

(c) 32 

(d} 0 

56
. vt 4x 2 +4y 2 -20x+12y-15 =0 

��
t? 

(a} 14� 

(b} 10·5� 

(c} 
7�

(d
} 

3·5� 

c€t 

57. � � �� t � � � (-3, 4),
(0, -4) � (5, 2

) 
t, � .tliJJ � t

(a) (2, 10
)

(b} (2, 9
)

(c) (3, 9) 

(d) (4, 10
)

. ' 

) 
.. 



52. If x2, x, -8 are in AP, then which one 
of the following is correct

? 

(a) x e {-2
} 

{b) x e { 4
} 

(c) x e {-2, 4
} 

(d) XE {-4, 2
} 

53. The third term of a GP is 3. What is the 
product of its first five terms? 

(a) 81 

{b
) 

243 

(c) 729 

(d) Cannot be determined due to 

insufficient data 

54. The element in the i th row and the 

jth column of a determinant of third 

order is equal to 2 (i + j). What is the 

value of the determinant? 

(a) 0 

(b) 2 

(c) 4 

(d) 6 
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55. With the numbers 2, 4, 6, 8, all th
e

possible determinants with these fou
r 

different elements are constructed. 
What is the sum of the values of all 

suc h determinants? 

(a
) 

128 

(b
) 

64 

(c
) 

32 

{d
) 

0 

56. What is the radius o
f 

the circle 
4x2 +4y2 -20x +l2y -15 =0? 

(a
) 14 units 

(b) 10·5 units 

{c) 7 units 

(d )  3·5 units 

57. A parallelog ram has three consecutiv e 

vertices (-3, 4), (0, - 4) 
and (5, 2 ). The 

fourth vertex is 

(a) (2, 10) 

(b) (2 , 9) 

(c) (3 , 9) 

(d) (4, 10) 

•(RT.0. 



58. � � y
+ 

px 
= 1 am y-qx = 2 -mtR �

t ii A'-ifaf&o -q -a �- m lft\ t? 

(a) pq+l =0 

(b) p + q +l =0 

(c) pq -1 = 0 

(d) p -q + l = 0 

59. � AP -q A
, 

B am C t, "<11 l{wl WT 

Ax+2By+C =O ����-a� 

�l���t

(a) (0
, 

0)

(b
) 

(- 1, 1
) 

(c) (1, -2
) 

(d
) 

(1, - 1

) 

60. � � -riot WT m (-4, 2) � qi1 sifaf.!Mt 

(4
, 

- 2i t. m -riot WT qi1 elflcfi<U t � t
?

(a
) 

y = X 

(b
) 

y = 2x 

(c
)

4
y

= X 

(d
) 

y =4x 

FJ Y-D -MTC/66A 22 

61. � (p, p-3l, (q +3, q) am (6, 3) t � -q
As::ifaf&a � 'q"{ � � 

1. � � � l{wl WT 'q"{ � ti

2. P am q t � \fl lfR � � � � 

�m11���11�,1

� � i\ -a � -m/-a � t/�? 

(a) � 1 

fbJ m2 

(c) 1 am 2 GRl

(d) -;J m 1 3fR -;J "tt 2 

62. x -2 = 0 am ../3x -y -2 = 0 WT3TI t �

qil��t? 

(a
) 

0° 

(b
) 

· 30°

(c
) 

45°

(d
) 

60°

63. � � ABCD t fcfcfi'uit qi1 � � 

� 'q"{ tam��� A(4, 2 ) 'q"{ t
1 

� BD qi1 t11flc:fi{U( � t?

(a
)

2x+y =0 

(b
) 

2x-y=0 

(c) 
x+2 y =0 

(d)
x-2 y =0 



58. If the lines y+ px = l and y-qx = 2 are
perpendicular, then which one of the
following is correct? 

(a) pq+l = 0

(b) p+q+l =0

(c) pq-l =0

{d) p-q+l =0 

59. If A, B and C are in AP, then the
straight line Ax+ 2By + C = 0 will
always pass through a fixed point. 
The fixed point is 

(a) (0, 0)

{b) (-1, 1) 

(c) (1, -2)

(d) (1, -1)

60. If the image of the point (-4, 2) by a line
mirror is (4, -2), then what is the
equation of the line mirror? 

(a) y = X 

{b) y= 2x 

(c) 4y = X 

(d) y =4x

FJY-D-MTC/66A 

61. Consider the following statements in
respect of the points (p, p-3), (q+3, q)
and (6, 3) 

1. The points lie on a straight line.

2. The points always lie in the first
quadrant only for any value of 
p and q.

Which of the above statements is/are 
correct? 

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

62. What is the acute angle between the
lines x -2 = 0 and .J3x - y -2 = 0 ?

(a) 0° 

{b) 30° 

{c) 45° 

(d) 60° 

63. The point of intersection of diagonals of
a square ABCD is at the origin and
one of its vertices is at A (4, 2). What is 
the equation of the diagonal BD ? 

(a) 2x+y=0

(b) 2x-y=0

(c) x+2y =0

(d) x-2y=0 ' '



64. � � ,$ifaq(q(.1q (t:1�q("ll<.1I) � � �
(3 tan 8, 2 sec 8) t, ol 3,1faq(c1<.1q cf;'t 3f�H@

<1<n t?

3 
(a) -

2 

(b) 5
2 

(c) .JIT_
2 

(d) ../f3
2

65. � �-� (� �) � 3��dl (e) t

�\l � f.li:.ifaRsia � � �

1. �t�e=O

2. ���e=l

3. ���e<l

(a) � 13ffi2

(c) � 1 3ffi 3

(d) 1, 2 3ffi 3
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66. � m 't&T311 t � q;y ffl <1<n t �

�-� (6, 3, 6) 3ffi (3, 3, 0) t?

(a)
1t
6

(b)
n

4

(c) 7t
3 

(d) 
1t 

2 

67. � WT x-1 =2(y+3) =1-zt �-�
l, m, n t ol 14 + m 

4 + n 
4 � GfUiiR t?

(a) 1

11 
(b) 27 

(c) 13
27

(d) 4

68. y-31� � A (1, 7, -5) 3ffi B (-3, 4, - 2) �
� "cl'@� cf;J '51� � t?

(a) 5

(b) 4

(c) 3

(d) 2



64. If any point on a hyperbola is
(3 tan e, 2 sec 0), then what is the
eccentricity of the hyperbola? 

3 
(a) -

2 

(b) 52

(c) -/IT
2 

(d) ✓13
2 

65. Consider the following with regard to
eccentricity (e) of a conic section

1. e = 0 for circle

2. e = 1 for parabola

3. e < 1 for ellipse

Which of the above are correct? 

{a) 1 and 2 only 

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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66. What is the angle between the two lines
having direction ratios (6, 3, 6) and
(3, 3, 0)?

1t
(a) 

6 

(b)
1t
4

(c) . n
3

1t 
(d) 2 

67. If l, m, n are the direction cosines
of the line x - 1 = 2(y + 3) = 1 - z, then
what is l4 +m4 

+n
4 equal to? 

(a) 1

{b) 11
27 

{c) 13
27 

(d) 4

68. What is the projection of the line
segment Jommg A (1, 7, - 5) and
B(-3, 4, -2) on y-axis? 

(a) 5

(b) 4

(c) 3

(d) 2

[ P.T.O. 



69. k � � �,n&I' 1lRl c€t � � t, �

� (k, 1, 3) 3'ITT (1, -2, k + 1) �3TI q;)

� � � (15, 2, -4) � � \ft �
�t?

(a) �

(b) �

(c) G1

(d) �

70. ��WR@ x+y+z=3 'q\ � � �
qil "tf!G t

(a) (0, 1, 2)

(b) (0, 0, 3)'

(c) (1, 1, 1 )

(d) (-1, 1, 3)

71. � ffl r = ai + b }, x 3'ITT y Gf.fl 31� 'q\

-e-i:rR � � 3lRa t I � ffl cti1 'lftlnu[
2 � t, m a 3TR b � � sPm: <flIT t?

'
a) 

l 1

(' 2' 2 

1 1 (b) ..f5. ' ..f5. 

(c) -15., -15.

(d) 2, 2 
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72. fcntfi ffl t = d +b, � ldl= lbl:it:O t, �

�� -q f.lA�f<!M � 'q\ fcRm �

(a)� l

(b) �2 

73. � -a 3fR b � wtiR � <:1 • t fcfi
➔ ➔ ➔ ➔ la+ bl= l a  -bl= 4 t, m f.lA�Rsct -q �
cm--m�t1 

(a) d3ffib3ffl<i��•�·I

1 

J 



69. What is the number of possible values
of k for which the line joining the
points (k, 1, 3) and (1, -2, k + 1) also 
passes through the point (15, 2 ,  -4) ? 

{a) Zero

(b) One

(c) Two

(d) Infinite

70. The foot of the perpendicular drawn
from the ongm to the plane
x+y+z=3 is 

(a) (0, 1, 2)

{b) (0, 0, 3) 

(c) (1, 1, 1)

(d) (-1, 1, 3)

71. A vector 1 = ai + b] is equally inclined

to both x and y axes. If the magnitude
of the vector is 2 units, then what are 
the values of a and b respectively? 

1 1 {b) .fj,' ./2 

{c) ./2, ./2 

(d) 2, 2
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72. Consider the following statements in
➔ ➔ 

➔ 

respect of a vector c = a + b, where
➔

➔ 

lal=lbl;t:0:

1. C is perpendicular to (a -b).

2. c is perpendicular to (ax b).

Which of the above statements is/are 
correct? 

{a) 1 only

(b) 2 only

{c) Both 1 and 2 

{d) Neither 1 nor 2

➔ 
➔ 

73. If a and b are two vectors such that 
➔ 

➔ 
➔ 

➔ 

la+ bl= la -bl= 4, then which one of 
the following is correct? 

➔
➔ 

{a) a and b must be unit vectors. 

➔ ➔ 

(b) a must be parallel to b.

➔ ➔ 

{c) a must be perpendicular to b.

➔ ➔ 

{d) a must be equal to b.

[ P.T.O. 



➔ 
➔ 

➔ ➔ 
➔ ➔

(2a x3b) · 4c +(Sb x3c) • 6a

(a) 114

(b) 66 

(c) 0 

(d) -66 

75. f.li::t�f&a <n� lR fcr.m �:

1. G1 lff;fc;fi � cfi1 � !r'l•Nicl \ft •
� lff;fc;fi � � mm t I

2. G) lff;fc;fi � cfi1 � :1011q;a •
� (1) mmt,

3. GT lff;fc;fi � t � cfi1 � �
atRt�����tl

(a) � 1 3ft'{ 2

(b) � 2 3ft'{ 3 

(c) � 1 3ft'{ 3

(d) 1, 2 am 3
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76. �

ax -xa
lim --=-1 x➔a Xa -aa 

t, <fl a qiflfR � t?

(a) -1

(b) 0 

(c) 1

(d) 2

77. � cfiO'l wftqi(OI dx = x + 1 W<T � �
dt

(m/s it)���� moi .t1 � cfiO'l
W<T 24m���cfiG�f<ficRl� (m
it) "WPTI? 

(a) ln24

(b) lnS

(c) 2 lnS

(d) 2 ln4

78. r1 f(a -x)
dx mt Gf'OiR t?

Jo f (x) + f (a -x) 

(a) a

(b) 2a 

(c) 0

(d) a 
2 ' , 



➔ ➔ ➔ 74. If a, b and c a re coplan a r, then what 

➔ ➔ ➔ ➔ ➔ ➔ is (2a x3 b)•4c +(Sb x3 c) • 6a equal to? 

(
a) 

11
4 

(
b) 

66

(c) 0 

(d
) -66

75. Consider the following statements : 

1. Th e cross produc t of two uni
t 

vectors i s alwa y s  a uni t vecto
r. 

2. The dot product o
f 

two uni
t 

vectors is alwa y s unity. 

3. The magnitude of sum of two unit 
vectors is alwa y s greater than the 
magnitude of their difference. 

Which of the above statements are 
not correct? 

(a
) 

1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

{d) 1, 2 and 3 
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76. If 

X 
a 

Ii a -x
1 

m - -- =
-

x ➔ a x
a -a a 

then w hat i s  the v alue of a ?

{a) -1 

{b
) 

(
c) 1

(d) 

77. A particl
e st arts f

r

o m o
n gm with 

a v elo c
i

ty 

(in m/s) giv e n  b
y th e

equa tion dx = 
x + 1. 

T
he tim

e (
in 

d t

s
eco n

d
) take n by the parti cle to 

travers
e 

a dis tance o f 2 4  m i s  

(a
) 

ln24 

(b
) 

lnS 

(c
)

2 l
n

S 

(d
) 

2 ln4 

78. Wha t  is 

re 
f(a-x) dx 

Jo f (x) + f(

a - x) 

equal to? 

(a) a

(b
) 2a 

(c) 0

(d) 

I
•

• L [ P.T.O.
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79. lim x +x 
��t? 

x➔-lx2 +3x+2

(a) O

(b) 1

(c) 2

(d) 3 

80. �

folf(x) + f(-x)] dx = La g(x) dx

(a) f(x)

(b) f(-x) + f(x)

(c) -f(x)

81. y = ✓16 -x2 , y � 0 :mT. x-3l� mD � �

cfiT ��t? 

(a) 16nqll�

(b) 81tq11�

(c) 4nqll�

(d) 2nqif�
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82. cfsfi y=-x3 +3x2 +2x-27 � �

"Slql1@1�1Rt?

(a) X = -1

{b) x = 0 

(c) X = 1 

{d) x =2

83. M 24 cm� oR cf>1 � � � oRTm

-ilTcfT t, � � cf,1UJ 60° cfiT t1 � 
�'TT«J �cl@� ft�� � � t?

(a) 4-/3 cm

(b) 2-/3 cm

(c) 6 cm

(d) 3 cm

84. � f(x) = elxl t, ell f.lqfctf©a q � �-m

�t?

{a) f'(O) = 1 

(b) f'(O) = -1

(c) f'(O) = 0

' .



79. What is

. x3 +x2 

hm---­
x➔-Ix2 +3x+2 

equal to? 

(a) 0

(b) l

{c) 2 

(d) 3 

80. If

ra[.f(x) + f(-x)]dx = r<1 g(x)dx
Jo 1-a 

then what is g(x) equal to? 

(a) f(x)

(b) f(-x) + f(x)

(c) -f(x)

(d) None of the above

81. What is the area bounded by
y = ✓16 - x2 , y � 0 and the x-axis?

(a) l 61t square units

(b) 81t square units

(c) 41t square units

(d) 21t square units
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82. The curve y = -x
3 + 3x2 + 2x- 27 has

the maximum slope at

(a) X = -1

(b) x = 0 

{c) X = l 

{d) x =2 

83. A 24 cm long wire is bent to form
a triangle with one of the angles as
60° . What is the altitude of the 
triangle having the greatest possible 
area? 

(a) 4./3 cm

(b) 2./3 cm

(c) 6 cm

(d) 3 cm

84. If f(x) = elxl , then which one of the
following is correct?

(a) f'(O) = 1

(b) f'(O) = -1

(c) f'(O) = 0

(d) f'(O) does not exist

{ P.T.O. 



85. f dx ��t?

secx+tanx

(a) In (se c  x) + In 1s e c  x + tan xi + c

(b) I
n (s e c  x) - ln 1s e c  

x + t an  x
i

+ c

(c) 
secxtan x-ln ls ecx- tan x i +c 

( d

) 
lnls e cx +tanxl-lnls ec x l +c

(a) 
s
in-

1 

x + c

(b) tan-
1 
x+c

(
c) s

ec-
1 

x + c

(
d)

c
o

s-
1
x+ c

8 7. � x+y= 20 ��1'R � t

? 

100 

(b) 9 6

(c) 8 4

(d) 
5 0

F JY
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88. x = e lR x � mq� sin(ln x) + cos(ln x) cfiT 
� (�l\4RA) � t?

cosl-sinl 

(b) sin 1-cosl 
e 

(c
) 

cosl +sinl 
e 

(d) 0

89. � X = e t cos t 3ffl y = e 1 sin t 't o1 t =0 

'If( dx � 'iRfiR t
?

d
y 

(a
) 

0 

(b) 1

(c) 

2e

(d) -1

90. sin 2x • cos 2x cfiT � 1'R � t?

(a) 1

(
b) 1

(c) 2 

(
d

)

4 



85. What is

equal to? 

(a) 1n (sec x) + ln 1sec x + tan xi+ c

(b) 1n (sec x) -ln 1sec x + tan xi+ c

(c) secxtanx-ln lsecx-tanxl +c

(d) ln lsecx + tan xl-ln lsecxl + c

86. What is

equal to? 

(a) sin-1 x+c

(b) tan-1x+c

(c) sec-1 x+ c

(d) cos-1x+c

87. If x + y = 20 and P = xy, then what is
the maximum value of P?

(a) 100

{b) 96 

(c) 84

(d) 50
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88. What is the derivative of

sin(ln x) + cos(ln x) 

with respect to x at x = e ? 

cosl-sin 1(a) 

sinl-cosl 
(b) 

e 

cosl +sinl
(c)

e 

(d) 0

89. If x = et cost and y = et sin t, then

what is dx at t = 0 equal to?
dy 

(a) 0

(b) 1

(c) 2e

(d) -1

90. What is the maximum value of
sin 2x • cos 2x?

(a) 1
2

(b) 1

(c) 2

(d) 4

[ P.T.O. 



92. � � � � f(x)

lim f(x) +1 = -�
x➔-1 x

2 -1 2

q;)��t. m lim f(x)�'i{UiRt? 
x➔-1 

3 (a) --
2 

(b) -1

(c) O

(d) 1

f(x) = 5, X = 1 {
a+bx, x<l 

b-ax, x>l 

mm t, ell (a+ b) 'q;"f llR � t? 

(a) 5

(b) 10

(c) 15

(d) 20
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94. � f(x) = sin x � "BG� -it f.11-.iR-lf©a �
"CJ\��:

1. 3TIR@ (0, 1t) li f (x) cf\PlR t I

2. 3lcR@ ( 5
2

1t, �1t )-it f(x) � t I

(a)� 1

(b) �2

(cJ 1 3fR 2 GH1 

(d) -;i m 1 3fR -;:i � 2

95. � f(X) = 3 X 'q;"f W<f � t?

(a) (-oo, oo)

(b} (0, oo) 

(c) [O, oo)

(d) (-oo, oo) - {O}

96. � °{% 31qc@ ijl{jc:f,(Oj 'q;"f � �
y2 +2cy-cx+c2 =0 t, � c 'I:%�
3ffi t, m � eli1c:fi<01 � � � t? 

(a) 1

(b) 2

(c) 3

(d) 4



91. What is the derivative of e x with
respect to xe?

(a)
xe x 

(c) xex 

92. If a differentiable function f (x) satisfies

lim /{x)+l =-�
x-+-Ix 2 -1 2 

then what is lim /(x) equal to?
x➔-1 

(a) 3
2

(b) -l

(c) 0

(d) l

93. If the function

{a+bx, 
f(x) = 5,

b-ax,

X <l
x=l
x>l

is continuous, then what is the value
of (a+ b)? 

(a) 5

(b) 10

(c) 15

(d) 20
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94. Consider the following statements in
respect of the function f (x) = sin x 

1. f(x) increases in the interval (0, 1t).

2. f(x) decreases in the interval

(S
2
1t' 31t}

Which of the above statements is/are
correct? 

(a) 1 only

(b) 2 only

{c) Both 1 and 2

(d) Neither 1 nor 2

95. What is the domain of the function
/(x) =3 x?

(a) (-00, 00)

(b) (0, 00)

(c) [O, 00)

(d) (-oo, 00) - {O}

96. If the general solution of a differential
equation 1s y2 + 2cy- ex:+ c

2 
= 0,

where c is an arbitrary constant, then
what is the order of the differential
equation? 

(a) l

(b) 2

(c) 3

(d) 4

[ P.T.O.



cfil 'El'@ (full) � t? 

(a) 1

(b) 2

(c) 3

(d) 'QIB ·qfbn� � t

98. f.li:.iR-lf©a it -a fcfitf � �l-ili:fi<o, cfil �

� y=aex +be-x t?

d2y (a) -+y=0
dx2

(b) ex+ y = c 

(d) ex-y = c 
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x
4 

{a) -+c 
4 

(b) x3 -+c 
3 

(c) 2x5

-+c
5

(d) 
XS -+c 
5 

101. N lf&n31l � 1J;i:fi � � � � � �
f.li:.iR-lf©a 1'.fNl 'G'< fcRrn � :

1 . � mui 

2. �mui

� it -a �-m/� ll� � <61 "Sl<W1 it 
�;ma t;t? 

(a) � 1 

(b) �2

(cJ 1 am 2 GR1 

{d) ';f cft 1 am ';f � 2 

102. 1J;i:fi � it � fcfflR, � am �

� .f?t li'&n sfilm: 30, 70 am 50 t I �

"f-l'�<nllJ;i:fi�{T<T�M�,
o) fcffiR � cfil W@ q;)uy � m1JT?

(a) 36° 

{b) 72
° 

(c) 120
° 

(d) 168° 

j 



.; 

97. What is the degree of the following
differential equation?

(a} 1 

(b) 2

(c} 3

(d) Degree is not defined

98. Which one of the following differential
equations has the general solution
y = aex 

+ be-x ? 

d2y 
(a) -+y=0

dx.
2 

d2y 
(c) -+y=l'

dx.
2 

(d) '!-y=O

99. What is the solution of the following
differential equation?

,_ - -
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100. What is J el2 ln x + 1n x2 )
dx. equal to?

x4 
(a) -+c

4 

(b) 
x3 
-+c

(c} 
2x

5

--+c 

X
S 

(d) -+c
5

101. Consider the following measures of
central tendency for a set of N
numbers: 

l. Arithmetic mean

2. Geometric mean

Which of the above uses/use all the 
data? 

(a} 1 only 

(b) 2 only

(c} Both 1 and 2

(d) Neither 1 nor 2

102. The numbers of Science, Arts and
Commerce graduates working in
a company are 30, 70 and 50 
respectively. If these figures are 
represented by a pie chart, then 
what is the angle corresponding to 
Science graduates? 

(a) 36
° 

(b} 72
° 

(c) 120
°

(d) 168
° 



103. 3'IBtl'R cf1T � q@ M dll(isll{<II � "9'"{
3llmfuf � �ltl<l�::I � � M cf1T cf;t
dll<d!R<II � � i\ m;fi .?

(a) � -cf;t �

(b) ���

(c) �-cf;t�

(d) ���

104. �t.T��t

(a) �����

(b) � � (3li'ftm) � � �

(c) �3ffi�Gl;;T��-e

(d) �m�.������ 

105. f.tRR!f©a � 198 1m � � � �
1m � i\ lllU c:f;t � c:f;t iillldll(dl m cf)1
Gfflcft t : 

(a) 3

(b) 4

(c) 5

(d) 6
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106. � n��

� lflu:J Mt,� k � cllf<lf4cf> � t, ol 
x1, X2 , X3, .. ·, Xn � lITUJ � t?

(a) M

(b) M +k

(c) M-k

(d) kM

107. fcRR llR1 73, 85, 92, 105, 120 � �
lflu:J � � � � cftl'1 t?

(a) -2

(b) -1

(c) 0 

(d) 5

108. lfR � X Gl � �3TI m 3ffi n �
HM t 3ffi y� GM t1 � 5x =4yt, ol
f.tRR!f©a -I\ -e �-m WT t?

(a) 5m=4n

(b) 2m = n

(c) 4m = Sn

(d) m =4n

4 

j 



103. For a histogram based on a frequency
distribution with unequal class
intervals, the frequency of a class 
should be proportional to 

(a) the height of the rectangle

(b) the area of the rectangle

(c) the width of the rectangle

(d) the perimeter of the rectangle

104. The coefficient of correlation is
independent of

(a) change of scale only

(b) change of origin only

(c) both change of scale and change
of origin

(d) neither change of scale nor
change of origin

105. The following table gives the frequency
distribution of number of peas per
pea pod of 198 pods 

Number of peas 1 2 3 4 5 6 7 

Frequency 4 33 76 50 26 8 1 

What is the median of this 
distribution? 

(a) 3

(b) 4

(c) 5

(d) 6
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106. If M is the mean of n observations
X1 -k, X2 -k, X3 -

k, ···, Xn -k, where
k is any real number, then what is
the mean of x

1
, x2 , x

3
, . . .  , Xn? 

{a) M 

{b) M +k 

(c) M-k

(d) kM

107. What is the sum of deviations of the
variate values 73, 85, 92, 105, 120
from their mean? 

(a) -2

(b) -1

(c) 0

(d) 5

108. Let x be the HM and y be the GM of two
positive numbers m and n. If Sx = 4y,

then which one of the following is 
correct? 

(a) Sm =4n

(b) 2m = n

(c) 4m = Sn

(d) m =4n

[ P.T.O. 



109. � M ill<i11<a, m 'cfi1 � 100 t �
� � 45% ti m 1fm11T 'cfi1 lfR � t?

(a) 2025

(b) 450

(c) 45

(d) 4·5

110. lfR � � � A � B � V<'fiR � i%
P(A) = L � P(B) = M t I A qfMfsAa -q -e
�-m�t? 

(a) P(A IB) < L + M-1

M 

(b) P(AIB)> L+M -1
M 

(c) P(AIB) � L + M-1

M 

(d) P(AIB) = L + M-1

M 

111. f.cq�ftga ma

n t � � t � �, 
� � � (�) 'cfi1 lfR ((cfi61tH t? 

(a) 12, 12, 12, 12, 24 

(b) 6, 18, 18, 18, 30

(c) 6, 6, 12, 30, 36

(d) 6, 6, 6, 12, 30
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112. 12 �P.1un 'cfi1 'l{l� 75 ti�� �P.lUTT cfil �
� -moT t, o1 ffi �P.lUTT 'cfi1 'ltl� 65 t I �
� �P.lUTT 'cfi1 'l{l� � t?

(a) 250

(b) 125

(c) 120

113. � ai:Ocfic0, x(x+l)+l =0 'cfi1 11;Cfi 1@ kt,
m��11_a�t?

(a) 1

(b) -k

(
c) 

k 2 

(d) -k 2 

114. �P.lUTT t 11;Cfi � t � 'ltl� 'cfi1 qflcfi�H

10 t � -q M -moT t I � � �� Xj

cfi) 3xi -e � M �, m m-a � 

'q'T�m 

(a) 810

(b) 900

(c) 30000

{d) 81000 

.. 

• 

J 
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109. If the mean of a frequency distribution
is 100 and the coefficient of variation
is 45%, then what is the value of the 
variance? 

(a) 2025

(b) 450

(c) 45

(d) 4·5

110. Let two events A and B be such that
P(A) = L and P(B) = M. Which one of 
the following is correct? 

(a) P(A 1B) <
L + M -1

M 

(b) P(AIB) > 
L + M-1

M

(c) P(A IB) � L + M -1
M 

(d) P(A 1B) =
L + M -1

M 

111. For which of the following sets of
numbers do the mean, median and
mode have the same value? 

(a) 12, 12, 12, 12, 24

(b) 6, 18, 18, 18, 30

(c) 6, 6, 12, 30, 36

(d) 6, 6, 6, 12, 30 
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112. The mean of 12 observations is 75.
If two observations are discarded,
then the mean of the remaining 
observations is 65. What is the mean 
of the discarded observations? 

(a) 250

(b) 125

(c) 120

(d) Cannot be determined due to 
insufficient data 

113. If k is one of the roots of the equation
x(x + 1) + 1 = 0, then what is its other
root? 

(a) 1

(b) -k

(c) k 2 

(d) -k 2 

114. The geometric mean of a set of
observations is computed as 10. The
geometric mean obtained when each 
observation x

i 
is replaced by 3xi is 

(a) 810

(b) 900

(c) 30000

(d) 81000

[ P.T.O. 



115. � P(AuB)=�, P(Af"\B)=.!:_ 3ffi
6 3

P(A) = .!:. t, m �8�furn il � chT-1-m/-e � 
2 

t/t? 

1. A3ffi B��tl

2. A3ffiB1lWR��tl

��Tfll:�cf,!'ffl����I

(a) m 1

(b) m2

f cJ 1 3ffi 2 GR1

(d) -;i m 1 3ffi -;:i � 2

116. 15��t��t3T?Bocfilitcfi'ftM
-;;r@lt,�Gf!Gil�-qcn�tf<fi�
�� ll � t � 'tR T@'<fi -e 3 t � 8 
� � �, �� cfil � � t Gf!G, 
-

(a) .!:. 'Efl �
3 

(b)
1
���

(c) 
10 'Efl �
3 

(d) 50 'Efl�

117. � fuffi cfil GT om "3"ffiffi -;;r@l t I � E 3ffi F
�: � 3ffi � � (im) -q � (%s)
� cfil 'Efl1'T cfil � t, "ITT P(EuF) �

� t?

(a) 1 (b) 1
4 2

(c) 
3
4 
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(d) 1
3 
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118. � fttfG GITT -q, 'l'.f!Ul � 3ffi >R1"{UT � t I <Fll
3 9

Sll�<hdl � fcn (ll��q; � X = 2 m?

5 (a)
36 

(b) 25
36

(c) 25
54 

25(d)
216

119. � "SITHTch1 10, 12, 13, 15, 15, 13, 12,
10, X cf,!� 15 t cfl X cf,! 'l'.fl';f <Fll t?

(a) 10

(b) 12

(c) 13

(d) 15

120. � A 31R B GT�� 1l<fiR t fcti P{A) = �
4 

3ffi P(B) = S, cTT �8�ft:id en� 'tR �
8 

�: 

1. P(A u B) cf,!� 'l'.fl';f � t I
4 

2. P(A f"\ B) cf,! � 'l'.fl';f � t I
8 

� � il-e chT-1-m/-e � t/t?

(a) m 1

(b) m2

f c) 1 3fR 2 GR1

(d) -;i m 1 3ffi -;:i � 2



115. If P(AuB)=¾, P(A()B)=½ and
- 1 P(A) = -, then which of the following

2 
is/are correct?

1. A and B are independent events.

2. A and B are mutually exclusive
events.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

116. The average of a set of 15 observations
is recorded, but later it is found that
for one observation, the digit in the
tens place was wrongly recorded as
8 instead of 3. After correcting the
observation, the average is

1 (a) reduced by -
3 

(b,I
• 

d b 10
1 increase y -3 

10
(c) reduced by -

3 

{d) reduced by 50

117. A coin is tossed twice. If E and F

denote occurrence of head on first
toss and second toss respectively,
then what is P (E u F) equal to?

(a) l (b) l 
4 2 

(c) 
3 
4 
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(d) l
3
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118. In a binomial distribution, the mean
·2 d . ·5Wh 'th 1s - an variance 1s -. at 1s e

3 9 
probability that random variable
X=2 ?

(a) 5
36

(b) 25
36

(c)
25
54

(d) 
25

216

119. If the mode of the scores 10, 12, 13,
15, 15, 13, 12, 10, x is 15, then
what is the value of x?

(a) 10
(b) 12
(c) 13
(d) 15

120. If A and B are two events such that
P (A) = � and P(B) = 5, then consider

4 8 
the following statements

l. The minimum value of P(A u B)
. 3 lS- .

2. The maximum value of P(A()B)
. 5lS-.

8 

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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